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Instructions for the candidate:

t ol o wvr v wag) A € awe 2

Candidates are required 1o give their anSwers in their own words as far as

practicable.
2 Tt s EiRd @ 22 gy No gl e st &

Figures in the right hand margin indicate full marks,
5 ol gra sTd 8

All questions are compulsory,

« e ed wya ofemll suris mag- i e wgrr vl
While amswering, the candidate should adhere to the word limit as Jar ax
practicable.

5§60 vt 93 @) gt &[54 15 e & 50 ey Rur ngr 8

IS Minutes of extra time has been allotted for the candidates to read the questions.
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HT - 3 (IS : 60)
GROUP - A (Marks : 60)

A

Instructions:

11 5F ae A & gw oF v T 0F I R

Answer in one word or in one sentence the questions of | mark.

2 ¥F oid g & gew T so vt 3 s TR B TAw s AR A TS
& od wEn @ garw FTT 150 vl R 8

Answer in about 50 words the questions of 2
questions of 3 marks and answer in about 150 words the questions of 5 marks.

ifas e /PHYSICS
yrr - 3/ GROUP=A

marks, answer in abou! 75 words the

B s CEIR R ULE AL R a1 = & 7 (1)
Which type of mirror is usedin froar af-dnver”
27 wamn & yuada $ fa s #7 (1)
. How many Laws of refraction of light are there?
3.~ Rgn Fat ar crrmfas srae e &7 (1)
- What is commercial umit of electneal energy?
4 AIDS (v33) 31 g3 A (1)
Write full form of AIDS.
/-;f"' | d9 & yuard Ja ey & (1)

Which lens is known as diverging lens!
g I A} F¥d & i F @)
e

What is magnification? Explain it.
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7, ¥Mana dm A oYan TR0 e awm e 8 wm e p? @)

Write formula of relation between focal length and radius of curvature in concave

MIFTor,
8 g s @ & Qo el Qad wne @ aa g2 @
What do you mean by Electric charge? Write types of Electric charge,
o veradl i va R urt A kR we ) ()

Write difference between Alterating and Direct current.
_}n Rga S e & o aar wwed & a¢ B R @ wr av 27 g e o
o R &1 oot & )
What is Electric Generator? Explain principle of its funetion. Describe its structure .
and working procedure,
OR /. 3rerar
AT, JAF, Y alad, @M aed J 3T 7 W 22 wawe anem a1 (S)

Explain Conductor, Non - conductor, Semi - conductor and Super — conductor with

cxample.
Waa a3/ CHEMISTRY

A=A /GROUP-A
1. UM dua R wEa & (1)

What is Galvanisation?
y'ar&'e 3ife At a1 anfdaw W@ ford | (1)

Write down the molecular formula of Plaster of Pans.
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3 P fafla wdesn w wafaa a¥- ' (1)

’ CO: + HyO - C, H},0, + H,0 + 0,
Balance the following cquation-
CO; + H,0 - C, H,,04 + H,0 + 0,
/s/t.'a‘iQﬁ&mﬁ;mmmaﬁmmw:ﬂﬂﬂmﬂwaﬁ"m (1
Write down the name of a non - metal which is found in liquid state at normal
temperature.
;{.ﬂ  dferan B v wn e §2 (1)
Write down the atomic number of calcium.
AY—STN qH
6. wfremua sy amr 82 @
What is replacement reaction?
7. JARS D M ar @ 82 @)
What do you understand by catalyst?
8. EEFfrNary am & gum stafre Squa o 87 ()
What is Hydrogenation? What is its industrial application?
3 Ysclla & amadtared A Remfet &) frd | &)
Write down the anomalies of Mendeleev's Periodic Table.
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ffonda ue

10wt () T A () fivemr - (%)
wm i) Wi (i)
(i) ¥ wa CaSOL 2 11,0
(i) O an CuSOy. 5 11,0
(i) vefter @an Na 1 CO,
(iv) e siven | NiyCOW, 10,0
(v) Rnam NSO, 10 110
Match the following columin (i) to (ii)
Column (i) Colummn (ii)
(i)  Baking soda CaS0Oy, 2 H0
(i) Washing soda CuS0y, 5 H,0
(i) Glauber's salt Na H CO,
(iv) Blue vitriol Na,COy, 10H,0
(v) Gypsum Na,S0y, 10 H,0
OR / 3uar
/e Tl SR w g ok o A oM W | 6)

Distinguish between Metal & Non - metal on the basis of Chemical Propertics.

W R/ BIOLOGY

"M - ¥ / GROUP-A

g fefm A 9 0 A g7 1A A w1 oam frah (1)

Wrile name of discase which occurs due to deficiency of vitamin A,

yaﬂmﬁmuﬁmﬂuﬁlhﬁam Y fen w qan amy §2 (1)

Write the name of respiration which occurs in presence of oxygen,
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3~ wraa A ) Il wamt @ Ry

Write two excretory substances of human being.
/ ofter A T @ fw aomd
Describe the role of decomposers in ecosystem.
5. o A nfa R v 1 gy &2
Write locomotory organ of Amoceba,
6. ufRER™ a7 A g anr wnny £
What do you understand by circulatory system?

7. Romd Qo A g am e w2

What do you understand by heterotrophic nutnition?

8 Tqa
IV
What is buddling?
9. TWEEE N MU T W &7

What do you understand by producer?

10. @@ a &7 D ued) A R
# What is blood? Describe components of blood.
OR / 4@t
qm & et Fre & aefea fas T

Draw diagram of longitudinal section of flower.

(1)

(1)

(1)

@

@)

()

1o

(5)

)
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HIT — (3@ : 20)
GROUP - B (Marks: 20)

A :
Instructions :
(i) WRF T 0F N5 ¥7 8

(ii)

Each question carries one mark

%WW#WWW##MmmﬁmmamﬂmWf
Write down the correct choice with question no. from the Riven four options-

Hif® e /PHYSICS

M-z / GROUP-B

(M.C.Q.)
. wwrn @) fed ms e ¢ (1)
() W @ A (b))~ 5 e 2
(¢) [ N 2w 9 (d) 8 g a8
The ray of light passes through
(@) In straight line (b) InZig Zag line
(¢) Inany direction (d) None of these
2. w3 fag fFa <im & guam g &2 (1)
(3) dad Tim (b) IA Tdw
(c) wwad zio (d) & 3 Té
Which mirror is used as shaving mirror?
(a) Concave mirror (b) Convex mirror
(c¢) Plane mirror (d)  None of these
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by:BSEBResult.In

3. wdage w1 wtEs waE o g
(a) S (b) mac
(¢ Wd (d) ™ @ T
The reflective surface of search light is :-
(a) Convex (b) Concave
(c) Plane (d) None of these
4. Pl 3 3 Axrer s arn am ar do A T e @ (1)
(a) C.N.G (b) L.P.G
(c) imﬁ gl d) Frae
Which of the following is not used as a cooking fuel?
(@ CNG b) L.P.G
(c) BioGas (d) Coal
5. s AiE wut B e st § ofvrg w2 (1)
(a) e Fuil (b). Reger For
(c) IR Tt (d) ¥ EE A
Dynamo converts mechanical energy into:-
(a) Sound Energy (b) Electrical Encrgy
(c) Solar Energy (d) None of these
6. ¥ @ A e fraad sro e &2 (1)
(a) W& AR (b) uifé afde
(c) = 4RI ¥aE (@ T 3 T8
The reason of accidents from electricity in houses is-
(a) Fuse wire (b) Short Circuit
(c) High voltage (d) None of these
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Ma marrr em # -
(a) w193 o oY oee (b)
(c) #moa oo oY oo (d)

The cye is used as:-
(a) Concave mirror (b}

(c) Plane Mirtor (d)

T da Y e

LI N R

Convet lens

None of these

wnga wex/ CHEMISTRY

v - 4/ GROUP - B

(1)

by:BSEBResult.In

(M. C.Q)
wi¥m a1 oty o am #? (1)
(a)  MgCO, (k) CaO
(c) CaCO, (d) Ca(HCO,.
What is the chemical formula of chalk?
(1) MgCO, % Ca0
(c) CaCO, (d} . Ca (HCO,).
COOH xfafmdta sus » oo w2 B2 (1)
(a) ufsserfs (h) ¥
(¢) A d) e
COOH Functional group is called-
(a)  Aldehyde (b Acd
(¢) Ketone (d) Ether
faeh o wfra Raga @1 pH om @ - (v)
(a) 7@ @ (by r & w3
() 7@&am (d) =v§ =@
The pH of an acid solution 1s-
(a) Equalto? (b) More than 7
(¢) Lessthan7 (d) Nonoe of these
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(1)

4 e k-

(a) Wi (by EmmETE

(c) HArierge (dg frian

The orc of mercury is -

(a) Bauxite (b) Hematite

(c) Magnetite (d) Cincbur

s, @ SVRE W fafm aven @ At wEema E - (1)

() TET® (b) H9EY

(c) wAREd (d) g @

Organic compounds which have same molecular, formula but different structural

formula are known as -

(a) Polymers (b) Allotropes
(c) Isomers (d) None of these
6. Prifea § ¥ waa &7 (1)
(a) H,SO;q () HCI
() HNO; (dy
Which of the following is strong acid?
(@) H:S04 (b) HCI
(¢) HNO; (d) All of these
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7. ARAE it el Ae aaR) @ e o @ - )
(a) 18 (b)y 7
(c) 16 (d)y 10

The number of horizontal rows in modern periodic table is -

(a) 18 by 7
(c) 16 )y 10

e g™ / BIOLOGY
AT — a3 / GROUP-R

(M.C.Q.)
. Y& & AR TR N FES gar - (1)
() a3 HRE (b) wWa @ FfE
(¢) v [ ) ®%ad
Responsible for clotting of blood-
(a) R.B.C (b) W.B.C
(¢) Blood platelets (d) Nonc
2. qF B WIS W@ PO 3o ) 70 Fea 82 (1)
(a) TERREH (b) I PR
(c) e (d) B
Structural & functional unit of kidney is called
(a) Glomerulus (b) Bowman's capsule
(c) Unnary tube (d) Nephron
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3. o mftdn da@d A AW o ftaws g gm 8 ()
(a) RTRM (b) farm
(c) aanum (d) vaREY
Conduction of water in algae is due to-
(1) Osmosis (b) Diffusion
(c) Absorption (d) Ascent of sap
4. wfna Jawrarh B (1)
(a) A @ fom (b) wZa WEA
(c) ARG egerm Q) i
Brain is responsible for -
“(a) Tothink over (b) Palpitation of heart
(c) Balance of body (d) Al
5. wrrEw % g & - (1)
(1) gH (b) o
(c) 33y () o
The anther contains -
(a) Sepal (b) Ovule
(c) Carpel (d) Pollen grains
6. U@ G [T B b <t oy &2 (1)
(a) 28 (b) 30 fagr LA ddfda @it e,
© 32 @ 34 . LR
An adult human has .............. teeth in mouth. anferpiees M%mﬁm
(a) 28 (b) 30 DA
(c) 32 d) 34
BSEBResult.In
fiffe w2
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